EARAROBEEIERT — 2 N— IBISH —F

20165E5H 308 (B) 2EI@#1H

R EEXl

— 201/ E280FKiE

‘ [R1&] & ‘ [RERBE] — | & (&) 14000 &

[A~&£] 1 7% :1,100,000  ~ 23 :330,000 W 37 :187,000 F

4 7% 143,000 B 53 : 110,000 M

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N L OERR :31. -1-1- . — HEAN (f815)
<F3I % 3 a5 1(3_1)1 1-1-1-1 | 411 4 ;1232) N B
R:gr—3Y7> B:YEYVFLIdYTFR =t =i
o 5 1 e s P B 2 :32. —5-5— . = ANEBRR (EF)
X4 T RST> 4 3 Al 1(352)0 5-5-5-3 | 40.5 7 (4_310) RS
R:VTATI94> K B:Oa+rRX<T) P rae
FANTERYLY it 3 ?ﬁﬁz— 1;(322>.4 7-7-7-8 | 40.5| — 3 (4622) @E%Eifﬁ%)
QiELsnIOL BiFTISeY 2| e
J s 3 | I 1:32.5 2-2-2-2 | 42.1| — 2 444 | WA (04E)
LS DY 54.0 57 s | B 75> ks
R:ZA¥—hF—o BIIX>ZIU-X DAY ¢
2 #o3 | A 1:32.6 9-6-6-5 | 41.0| — 9 471 | RS GEA)
5|55 173 /%tF 56.0 (5¢) (+12) | KBE
L:T772UIT B:R—/N3I2 FiE &
4 3 | BEISHHIC 1:33.2 8-9-8-6 |40.8| — 8 427 | BOZE (EFN)
6179 ¥X% 56.0 3) 1) | TEER
R:TF4—T2AhA4 B:vRH5—4 BSllike)
. ; 43 | WAHRHE 1:33.5 6-8-9-9 |41.2| — 6 445 | EEBEZ (1048)
7lgl11| F—Ab>TOU% 56.0 aos b | wmam
R:TIvr8%Y—F B:TIv Y49 F % BT
S o3 | WHER 1:34.0 4-4-4-4 | 43.1| — 5 473 | REFEZ (AN
8l7/8 N 56.0 (2 1/2) (7)) | EfEEHE
LY LIAN—F B:VTR2yF Heh #—
= 43 | AT 1:34.3 3-3-3-7 |43.8| — 1 451 | DARE ()
9(8/10 1470 54.0 (1 1/2) (45) ESlina
R:TINTTY BAATHLRT W7 7 — I
P1) s 4 3 | BEHE 1:34.3 10-10-10-10{ 39.7 | — 10 | 369 |#RAEEM (AN
w2 P—T7V>tX 54.0 (72 (o) | PR
R:HI5TLIF b BNALTXxF JIANL—Z2 T —
t 3 | RiEEA - - - - | - | - |mmEm (A
Iy 7| 7TV 54.0 (BGH) (o) | B aRHES
LTVHAZIILR B:T9USLY e TARZE Y FREdt
® I —F—@EBIERL
13=7r= 3,6,10,8,4,11,1,9,5,2
2= = 3,6,10,8,4,5,1,11,9,2
Jol=5r= 3,6,10,8,4,5,1,9,11,2
40—+ — 3,6,4,8,5,9,10,1,11,2
[ N3
BB 3 940H 714K 3-4 2,030 % E 3-4 10,900 3EHE 1-3-4 9,530/
8 B 3 280M =8 850M B 3-4 13,660M K31 3-4-1 57,4304
4 740M 1-4 1,010 B E 3-4 8,350
1 170 B H 3-4 16,480M

ABICOVWTRDTEEERROODE. TR LIV,




